FEx= 3061.24#

29.0000

2734724 Foy

=Fagy,

575.3224

IMS= +(FEx*29.0000") + FE,*1.00000— (FFD"*11.0489"#) + (Fjh*20.8304") = O
Mi= +(3061.24*29.0000") +9.14992*1.00000"— (3943.00#*11.0486") + (Fjh*20.8304") = 0O

2170.89=Fhj

SF}=+FE — FDF COS7.4168 + hj C0S29.6870° — Fgy=0
+3061.24 — 3943.00 COS7.41678 — 2170.89 C0S29.6870° + Fgy=0

2734.72 =Fgy
SF=+FE, — FDF SIN7.41678 + hj SIN29.6870 — Fgy=0
+9.14992 — 3943.00 SIN7.4168 + 2170.89 SIN29.6870° — Fgy=0

575.3214 =Fgy

29.0000

17.4300

23.2592 5.74084

11.5700 11.6892

¥4 flzrvele
#ve 1908 =X34 *

FEy=9.14992#

575.3224/=Fqv 4

T,

FFy=508.986#

g
0.260303 r

2.28913

%44 #Lo'0169

SHEAR DIAGRAM CALCULATIONS
Fox+FFy+Fhy+FEx=0
—2734.724+3910.01#+1885.95#—3061.24#=0

1885.954 3061.244
T

3910.01#

0
,

—2734.72#

MOMENT CALCULATIONS
Mi15700=—2734.724#*11.5700"=—31640.7"#

My s700+=—2734.72#%11.5700"+(508.986#*2.28913")=—30475.6"#
Mys3,2500=—2734.72#*23.2592"+(508.986#*2.28913")+3910.014#*11.6892"=—16737.4"#

Mys3. 2500+ =—2734.724#*23.2592"+(508.9864*2.28913")+3910.014#*11.6892"—(1075.16#*0.260303)=—17017.2"#
Mao,0000=—2734.72#*29.0000"+(508.9864#+%2.28913”)+3910.01#+17.4300"—(1075.164#*0.260303") + 1885.95#+5.74084"=556.799"#



